Geometric Sequences Practice Worksheet A

Name Date

Determine if the sequence is geometric. Ifitis, find the common ratio.
1.-1,6,-36, 216, ... 2. 4,16,36, 64, ...

Given the explicit formula for a geometric sequence find the first five terms of the sequence.

3. a =3" 4. a =—-43)""

Find the next three terms in each geometric sequence.

5.2,4,8,16, ...

6. 400, 200, 100, 50, ...

7. 4,-12,36,-108, ...

Find the missing term(s) in each geometric sequence.

8. , . 1,-3.9, ...

9. . 6,18,

Write the recursive rule and explicit rule for each geometric sequence.

10. 9,27,81,243, ... Explicit: Recursive:

11. 5,-5,5,-5, .... Explicit: Recursive:
3 3 . —

12. 12,3, =, — ., ... Explicit: Recursive:
4 16

13. The first term of a geometric sequence is 1, and the common ratio is 10.
What is the 10" term of the sequence?

14. What is the 11t term of the geometric sequence 3, 6, 12, 24, ...2



15. In the NCAA men's basketball tournament, 64 teams NCAA Men'’s
compete in round 1. Fewer feams remain in each Basketball Tournament

following round, as shown in the graph, until all but one > 64

team have been eliminated. How many teams compete ‘e 60

inround 5¢ 'g 40 32
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16. The 10" term of a geometric sequence is 0.78125. The common ratio is -0.5.
Find the first term of the sequence.

17. A bungee jumper jumps from a bridge. The diagram shows the
bungee jumper’s height above the ground at the top of each
bounce. The heights form a geometric sequence. What is the
bungee jumper’s height at the top of the 5 bounce?

&
Third bounce
321t

18. The number of points that a player must accumulate to reach the next level of a
video game form a geometric sequence, where an is the number of points needed
to complete level n.
a. A player needs 1000 points to complete level 2 and 20000 points to complete level 3.
Write an explicit rule for the sequence.

b. How many points are needed for level 7¢

19. A construction company is building houses in a neighborhood. During the 15t month
they built 3 homes, during the 2@ month they built 6 homes, and during the 3

month they built 12 homes.
a. Write the recursive rule for the sequence.

b. When will the construction company build 48 homes?2



